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1
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Time : 2 Hours Total Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.
Ehet ey @Ol Baots OMR marm SEnwd’ gipdd Srusess giigm 9eted.

/1.

SECTION—I : MATHEMATICS

If the ratio of the sides of a triangle is 1: 1: V2, then their angles are in the ratio

Y G oY), ghmdwe Upd 1: 1: N2 o, ol Sessoon Bd
() 1:1:2 (2) 1:42:1 (3} 1:4/3:2 4 1:1:42

The angle of elevation of a top of the tower from a peint 120 m from its foot is 45°. How much
the tower is to be raised when the elevation is to be 60° at the same point?

120 do. Srsm 5008 w8 goprdy 45° Sy Srsves Brwme. od @huin Mol oD IoRe 60° Sewod’

DGR, $ogRN0 Job BHotnghe
(1)- 12043 m (2) 120m (3) 120(3-1Hm 4) 1203 +1)m

. If A+ B= 135" then {l1+cotA){l+cotB =

A+ B=135 o, (1+cotA)(1+cot B =
(1) 1 (2) -1 3) 2 (4 -2

. Current generation computers are

Eybo TS’ Ko STty

{1) Babbage machines {2) Numen machines

wepfh Dol Br@oS oty "
{3) Leibnitz machines (4) Pascal machines

Bowdyg Dode 6 Aokis

. The main component in the 2nd generation computers is

Bounsto YodPws HEsHm GSRFACHRGIN

(1) transistor (2} integrated circuit
PRy BPEeb Hocires
(3) vacuum tube (4} None
By TOEeo R )

SPACE FOR ROUGH WORK / 283308 Froaoteds P
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(6. The centroid of the triangle whose vertices are (1, 4), -1, =D, (3; -2 is
(1, 4) (=1, -1 (3, - 2) e Dolioipes Ypeom Ko GPenwn Bk, KtsbFosiv

1 -9 @ (14 @ -4 @ L)

7. The area of a triangle whose vertices are A(3, 2), B(11, 8 and C(8, 12) is
A(3, 2), B(l11, 8) sobcin C(8, 12) e Dotoipen Soresm o G TG

(1) 23 @) 24 (3) 25 4 26

8. The distance between the points (a cos25°, 0) and (0, a cos 65°) is
(@ c0825°, 0) Beloww (0, a cos65°) Detsye Wogy BED

(1} a 2) 2a (3) 3a 4 o

9. The coordinates of the point which divides the line joining the points (2, ~4) and (5, 6) in the
ratio 5: 3 are

(2, —4) BoBau (5, 6) wio Dotope Jaup ¥otdeo 51 3 A" podoin Doty

0 () a2 e (2a) e (S

10. If 2x-3y+ 5=0 and 4x + ky-2 = 0 are two parallel lines, then the value of k is
2x -3y + 5= 0800 4x + ky—-2 = 0 wond Surosodd k =

(1) -6 2} -3 (3) 3 (4) 6

SPACE FOR ROUGH WORK / D308 fircaobeds gess
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11. The point on the line 2x - 3y = 5 which is equidistant from (1, 2) and (3, 4} is
(1, 2) $:00% (3, 4) Dotspots THEITHNE Powd 2x — 3y = 5 vl Wlpp o Dok

(1) 3 2 @0 @ -1 4 @, 9

12. The triangle formed by the points (0, 5), (5, 0) and (0, 0} is a/an
(0, 5), (5, 0) medaps (0, 0) Sges® Du Ggbumw ’

(1) equivalent triangle {2) isosceles triangle
[dowv (Bgoeor Soleriro (@eomho

(3) scalene triangle (4) right-angled triangle
DHPOENTO (BEdeS0 oows's (@gomnn

13. The slope intercept form of the line ax+by+c=0is

ax + by+ ¢ = 0 3660 Doolfy, e wotios SRSHR

1y y+Z+

14. The equation of the line passing through (1, 2) and perpendicular to x+y+1=0is
x+ y+1=0 e 5t conem ok (1, 2) Dokoy Koo Howy Joeder Sloies 7

1) y—x+1=0 2} y-x~1=0 3) y-x-2=0 (4) y+x-2=0
N
15. The line joining (-1, 0} and (-2, -+/3) makes an angle of ............ with x-axis.
(-1, 0) So8aks (-2, —V3) Dotisipess Yo 35ibp x- e ..o Seaion Botanso
(1) 30° (2) 45° (3) 60° @) 75°

SPACE FOR ROUGH WORK / D833 Suranobeds gobe
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16. The inverse of p=q is

P = g udo @R ool REEREY

.

{1) ~p=>~gq (2) g=~p (3) p=-~-gq 4 ~g=~p

17. In a class, there are 26 students. In a survey, it is learnt that 8 would like to take tea but not
coffee. If the number of students who like tea is 16, then the number of students who like
only coffee but not tea is

LS OGS 26 Mol Jovtpes Kuth, HOEF 8 Hod & @NEt: T T @s. 16 Mol o EHEs. s %
DTG (SO0 Sog;

(1) 18 o (2) 8 (3) 24 {4) 10

18. f AnB=¢, then BnA’'is
ANnB=¢ewony, BNA' =

(1) A @ B (3) A’ 4 B

2

19, Fid = ¥ =2 is defined, i its domusin is
x% -9
flx} = 3 ity (Saoctone Gk, ES%R
{1} {3} (2) Z-{3} (3) R-1{3} 4 R

20. The range of y=tanx is

Y= tanx e Bl ey, T

(1) [-1, 1 (2) [~oo, =] (3) [:;-, g] (4) None (28 sa»)

SPACE FOR ROUGH WORK / Q3108 Jemosolbendid oo
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21. If a? +b? +¢2 =1, then ab + be+ ca lies in the interval

a? +b% +¢2 = 1 wosss, ab + be+ ca D wedtnndt mootisss

(1 5 2 (2) -1 2 3 -4 2
. x  ay?
22, The value of the middle term in the expansion of (—+—) is
a x
x  ailo
(_+_) et agg SEsH00
a x
; 1
1) 252 2) -252 3) —
(1) (2) (3) 257,

23. If x+y > 10 and x +2y 2 10, then the least value of f =x +y is

X+ y2 10 %000 x + 2y 2 10 wossls, f = x + y ool 505 Joud

(1) 3/20 2) 5 | (3) 3/2

24" Which of the following is convex?
Bod Sedoed® DO KLorrms Bd

(1) (2)

25. If at/? + /3 + /3 =0, then a+b+c=

a3 + Y3 13 2 0weand, arb+c=

(1) 3-Yabe 20 ¥abc (3) 27abe

(4) ['—1»‘12“]
-1

(4) 252

(4) 20/3

4 3-Yabc

SPACE FOR ROUGH WORK /[ Qond3 Ferosetndh Sedas
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26, L FHUM -1
’ v ool X

(1) 1 2) -1 {3) 2n 4) 1/2n
27. In the progression 16, 11, € 1,5 tig =
16, 11, 6, 1, - wis B&S° t)g (180 sEun) =

(1) -12 (2) 39 (3) -69 @) 96

28, If 2, 6, 18, 54, --- are in geometric progression, then 23, 6%, 183, 543, ... are in

2, 6, 18, 54, - o HomEad® 5o, wows 23, 62, 183, 543 e s &* Koy
{1} AP (2) GP

wol He ' e @B
{3} HP (4) None

ToEs B8 08 T

29. The angle in a major segment of a circle is

B WG yo&fémeﬁeb Sopaisan

(1) an obtuse angle (2) an acute angle
W el Sessoo Wl ey Sheans
{3) a right angle (4} None
¥ oows Srasoo 08 e
30. A
D 5 C

in the above figure, if £B is an obtuse angle, then AC? =
b sutad® /B ol opy S, AC? =

(1) AB® + BC? - BD? (2) AB? + BC?

(3) AB?+ BC? +2BC DB (4) AB? + BC? -2BC-DB

SPACE FOR ROUGH WORK [/ 863308 Ferononeds B0
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31. If the angles of a triangle are in the ratio'1 : 2 : 3, then the ratio of their corresponding sides
is

o (Dg0mooos® Senoe D33 112 1 3 ok, T oty NGd

(1) 1:43:2 (2) 1:2:43 (3) ¥3:1:1 4 2:43:1

32. If the median of a triangle divides it into two triangles, then the ratio of their areas is

.5 @m::;mé‘ Aosedn WETIDRN e SBorbanids Coth |BELRDLLIT Miifowd, o (Bfbor JTRme I8
(1) 2:1 2) 1:1 3 1:2 4 3:1

33. The distance between the centres of two circles of radii n and ry is d. The length of the

transverse common tangent is

-

Totss WY M0Es 1y Habetix ry. Sogsitwe Mgy Grve d wosls, T3 Adbuddy SovE dlad Hde My

(1) yd2-{q-r)? (2 Jd®-r2-r2 B) yadZ-(n+r))?  (4) Jd2+(n-ry)?

34. /_\
A i B

C D

In the given figure, the radius of the circle is 5 cm, AB= 8 cm, CD = 6 cm. If OP makes right
angle at P on AB and OQ makes right angle at Q on CD, then PQ=

DesoS® o e 5 cm, AB=8cm, CD = 6 cm. OP, AB & vowertius, 0Q, CD 2 ecwors God,
AB, CD e Sarodogs, PQ =

(1) 7 cm (2) 6 cm (3) 5 cm (4} 4 cm

38, Which of the following are the sides of a right-angled triangie?
Bob TG T wowSes Gehwnn Gl o’

(1) 5,8, 11 (2) 6,8, 12 (3) 56, 33, 65 @) 3,4, 6

SPACE FOR ROUGH WORK [ Q85323 Bercasoteds RN
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k 2 3 -6 .
36. 1f A= , B= and A+ B=0, then A=
m 2n 4 2

m 2n 4 2
3 -3 3 -3 -3 6 -3 b6
(1) {4 1 il 2) [4 _1} (3) [4 ljf (4) [_4 _2}

1

1 2 3 .
37.If A =|:4 5 6]’ B=]2jand C=[1 2}, then the order of ABC is
3

k 21 3 -6
A= . B= %0005 A+ B=0woxsS, A=

1

1 2 3
A=[4 p 6}, B=|2|%0cm C=[1 2] wowns, ABC Qo) BIKS
3

(1) 2x3 (2) 3x2 (3) 2x2 4) 1x2

1 -2 1 0
38. Given A =[3 _5} B:{O 2} and X be the matrix such that A= BX, then X =

1 -2 1 0

(2 -4 -2 4 2 4 2 4
(0 25 _5} @) 51[ s _SJ @ %[3 _5] ) %[_3 “SJ

N

JC2 =

i 2
39, IfR=|*Y ¥ } then R? =

2

2
R=|:xy Y :[wwbS‘,Rzz
X< -xy

(1) —2xy-I 2} 2xy-I (3} -2x2%y?.1 4 2x?y? .1

40. The average of 100 numbers is calculated as 60. While calculating the average, two numbers
are taken as 72 and 28 instead of 54 and 26. If this error is corrected, then the corrected
mean is

100 Zegpw 0900 60. Hiew Loftoed® Jodwss 54, 26 Deowe®d woosr 72, 28m ShSNnd
B cedion. 80 DN BT wosktld B

(1) 596 (2) 597 (3) 598 (4) 595

SPACE FOR ROUGH WORK / D923 Siroasotnds e
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41. The formula for finding mode is

REOLN00 H50RTE0E B

(1) [ i e 2) o Jf-h
2f -(fL + f2) 2f -1 + f2)
(3) +—f—_—f1—-c (4) 1+~&_.
2f +(fi + fa) 2f +Uf1 + f2)

42. For a given data, mode = a and median = b, then mean =

TGl STLCHIIODE VI 0, BaggBRe b woal, woliicld Bres =9

(1) -a;—b (2) 9-12’—b (3) sz‘a (4) None (98 s%w)

43. The median of the scores -4, -6, -5, 3, 0, 5 and 11 is
~4, -6, -5, 3, 0, 5 Bo0ctin 11 o Soggisisa

(1) 3 2) -5 (3 O (4) 5
44. The arithmetic mean (AM) of the data <, 2, 2, 1 7 s
326 2 12

l, 9—, E, —l-,lo'bogb oSl S
33 6 2 12

2 3 4 1
1y = g 2 3 2 g L
(1) = 2) = (3) = (4} =

45. The mean and median of a unimodal grouped data are 282 and 30-5, so mode is

25 GHTd Arad Dered B 28.2 Bo0cin Bt 30.5 wowd, ol arodEhn

(1} 351 (2) 346 (3) 295 4) 326

SPACE FOR ROUGH WORK / Q6303 Fercaobuds ==t
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46. If the mean of the following distribution is 2'6, then the value of Y is

Bol gy, Neres Bres 26 PR, ‘Y ek

Variable (x) 1 3 4 5
plale d
Frequency 4 ] 1 2
DR
(1) 3 (2) 8 {3) - 13 (4)
47. The median of the following distribution is
Te 8ol Derena BatsssD
Class interval 0-9 10-19 20-29 30-39
BORS erobhioos
Frequency 10 16 24 29
ToePidgso
(1) 2375 (2) 2325 {3) 23 4)
48. If A+ B=90° and tanA = ZS' then cot B =
A+ B=90 %0ckw tan 4 = 4§ @on, cot B =
4 -4 3
1) — 2) — 3 = 4
(1) 3 (2) 3 (3) 3 (4)
49. sin Acos(90° - A} + cos Asin (90° - A) =
(1} sin?A 2) cos? A (3} © (4)
2
1-
so, ~—tan 9 _
cot“8-1
(1) tanZ8 (2) cotZe (3) sin%g (4)

24

2225

cos? 6

SPACE FOR ROUGH WORK / 6:528 ferasosmds P
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i 51. In a AABC if ZB=90° and tanC= Tsi' then the length of the hypotenuse is

vX |Btme ABC 6° £/B=90°, tanC= % woans, u Gromib Sy, KEww

! : (1) 6 2) 13 (3) 21 @) 17

59, sin? 29° + cos? 61°=

(1} 2sin®29° {2) cos?é6r (3) 1 (4) None (08 mes)

,1+sin9 3
S 1-sinB

(1} secH+tan0 (2) secH-tan® (3} sec? 6 +tan? 6 (4) sec? b-tan? @

54. If a cos® + bsin® =4 and a sin® - bcost = 3, then a® +b? =

a cos0 + bsin® = 4 #boin a sind — becosB = 3 woi, a’ +b? =

(1) 7 (2) 12 (3) 25 (4) None (98 mo)

55. tan1°tan?2°tan 3°--- tan 89° =

(1) oo 2 o 3 1 (4) None (& m&o)

SPACE FOR ROUGH WORK / 26003 Ferootndsd B
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56. tan? 60° + 4cos2 45° + 3sec? 30° + 5cos? 90 =

{1y 7 (2) 8 (3) 9 (4) 10

L. o
57. If tan35°= k, then the value of _20145°~tan 125 s
1+tan145°tan125°

tan 145°~tan 125° '

tan 35° = k woxnd, oo =
l1+tani45°tan125°
2k 2k 1-k2 1- k2
(1) 5 2) 5 3) [4) =
1-k 1+k 2k 1+k
58. if cos8 = 2y mn, then sin#f =
m+n
Bosh 5 2V o, sing =
m+n
m+n m-n 2v¥mn m+
(1) (2) 3) (4) &
m-n m+n m+n fnn
59. 1 radian =
1 3&03;5 =
(1) 56°16’ (2) 50016’ (3) s56°15° (4) None (28 )
60. If 8 is an acute angle, then cot(@-1170°) =
0 &5 esisn, wows cot(0-1170°) =
(1} -tan® (2) tan® {3) coto (4} -cotB

SPACE FOR ROUGH WORK / Dtyi98 Sercosotends Senas
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SECTION—II : PHYSICS

61. Positron is an anti-particle of

el emond B3 HoSne

(1) neutrino (2} proton
amgesd Sherdo

(3) neutron (4) electron
RIS JoFrw

62. lonizing powers of ¢, B and y rays are respectively in the ratio

o, P odcts ¥ Acren echoNtes ¥he Npd BT

(1) 1:10%:10° 2) 1:10%:10° @3 10°:10%:1 4y 10%:10%:1

63. At room temperature, the energy gap for pure germanium is
Ko a3Birs B, SR BSRde Dok, ¥ woiste (Jugi SFegd’)

(1l 0.72 eV (2) t-1eV (3) 1-21eV (4) 1.4 eV

64, The process of ‘mixing’ messages to rf carrier waves is called

f Tr B, SHrTN Bomots 505 (PECD

{1) transmission (2) modulation
SRR BT FEU-NG AN

(3} demodulation {4) scanning
G-sren@iad ek

65. BCD stands feor
BCD wio 30y griss 900 S

(1) Binary Computer Digit (2} Binary Computer Decimal
B8 Soigrwsb & g6 sowrpol abwé

(3) Binary Coded Decimal (4) Binary Coded Data
Bob SR abud pob ek our

SPACE FOR ROUGH WORK / Q8903 Swromobeds Fenw
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66. The relation between acceleration. ‘@’ and displacement ‘¢’ from the mean position of a
particle in simple harmonic motion (SHM} is given by

B ot Hudes’ &k ¥ Smo ¥, B (@) wo0ao Dovsodssia Mool Ko Jagiorsa (x) o g
dewede

1) woex (2) aoc-x 3) ael (4) ae-1
X X

67. The ratio of intensity of magnetization and the intensity of applied magnetic field is called

LY ST echdnodite SEB, BN wdbdmed 5 dpve N5,g

(1) permeability (2) susceptibility
SHidon SRHO0S

(3} retentivity (4) ferromagnetism
BouDed ' Pl ecndm clsgin

68. The property that change in velocity of light takes place at the boundary of two media is
found in case of

S8 2urso oy, Do 2.8 ¥ Fod MIOEY GRS B DoSEYy BBALBAY G

(1) refraction {(2) reflection
sfgnsse Sorsga

(3) interference {4) polarization
BdYsEe &yseso

v

69. The working principle of a transformer is based on

SRS D somEnd) (Fondy) esgscss 10 Sigod

(1} Ohm'’s law (2} Fleming's left-hand rule
£50 DO FRooR DERstd Do
{3) self-induction (4} mutual induction
Sao (bies oFfgs; Bves

70. The angular momentum of an electron is given by

Doges a0k, Sedo gisdie
h h nh

h
o (@) a (3) poos (4) -

(1)

SPACE FOR ROUGH WORK / DBesDd Tercssotedis ponw
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71. The long thin metallic strip fixed at the back of vernier calipers can be used to measure

T2.

73.

T4.

75.

2008 306, Do¥ TS DRod ENpasidond o¥ s Ehy o BID SR GIDIARD

(1) thickness of a wire (2) internal diameter of a hollow cylinder
Siisoesna P Py wonsd Tgse

(3) depth of a hollow cylinder (4) external diameter of a solid sphere
PO sy oo ROy Wiy o

What is the value of acceleration due to gravity (g) at a height of 1000 km from the earth’s
surface (radius of the earth = 6:4 x 10° m; ‘g’ on the earth = 9-8 m /s?)?

£ &s0Boe ok 1000 3.5o. Jy8® Ketobs Bme (g) desd (4o TgE0 = 6-4 x 10° B, ‘g
=9.8 Rf»?)

(1} 6 -74m/s? (2) 8-27m/s? {3) 9-8m/s? (4) Zero
6-74 bsfn? 8.27 B/ 9.8 Hofn? EON

If the distance between two objects is halved, then the gravitational force F° changes to

Dodh SPE BT HTRS BRINHES, T3 Buy KthanEyn weo (F) do srttied

(1) F/2 (2) 2F (3) 4F 4y F/4

The distance traveled by a freely falling body after 2 s is
Saeoy™ (ot B8 ¥ BRsp 2 WINoo BOWS Hairsiotn LMo

1) 2m 2) 4.9m (3) 9-8m (4) 19-6m
2% 4.9% 9.8 % 19.-6 &

The ratio of the distances traveled by a freely falling body in the first, third and fifth second of
its fall is

Dstoye Boxto & By BB 19, 3% Hbake 5% WSt Hatrne dan ErTY A

(1) 1:3:5 2) 1:5:9 (3) 1:9:25 4) 5:3:1

SPACE FOR ROUGH WORK / 28508 Sepoxoiindsy jewse
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76. If the velocity of an artificial satellite is greater than 11 km/s, then it

w¥ SHIB% (o @k, Ie 11 km/s 508 QL Goll, wd

(1) returns to the ground (2) rotates around the earth
BEA LEPOD DEBon P> WP Stoltood

{3) escapes from the ground (4) moves on the earth’s surface
BLP MatoB; Sollio Wod BinotoXioecd ¥ aBBred Kol dowsod

77. A pendulum of length 50 cm has a time period of 1 s, If the length changes to 100 ¢m, then
the time period is

50 o.do. sy KOAS oY Slowy GRS oo 1 . o0 FaEY 100 el wond, wins SBED oo

(1) 0-5s 20 1s (3) 2s 4 V2s
0-5% 1% 2% NORS

78. The heat energy produced by completely burning a unit mass of a fuel is called

BEFe E0F Mo 5 R0, Soom Sved Histie Scts SREAD oot

(1) calorific value (2) specific heat
360LE Deny S8

(31 latent heat of vaporization (4) thermal efficiency
PSS 1o &5 YO

79. The pair of physical quantities having the same unit is

-

Bod w36 o Gauomo ¥R Gy wow POEoBes

(1) force, pressure (2) thrust, pressure
wee, S egnoe, b

(3) thrust, weight {4) weight, pressure
wiive, rUSL PS80, Bte

80. A train moves in a curved path of radius 49 m with a-velocity of 4.9 m/s. The angle of
banking to avoid accident is

¥ Beo 49 B et o @I Srges’ 4.9 R/ Do SRowoBoR)f. ERPCT) JmOoumls Tekl My
S

(1) tan“( 1] (2) tan! (]}5) (3) tan-! (515) @) tan=! ()

SPACE FOR ROUGH WORK / DY Firossotnds g
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81.

82,

83.

84.

‘ 85.

Which among the following rays has the least wavelength?

Bol Serudt KUY oy © ¥
e s

(1) y-rays (2} X-rays
y-38ePen X-3tereo

(3) Microwaves {#) Ultraviolet rays
wistotones wodesing deres

Working of a stethoscope uses the property of sound called

ROT5 ety BONo G Dok, D PR SEURG B Dideod

(1) resonance (2) dispersion
eloTe WY T8

(3) refraction {4) reflection
sl ' SovsgRe

In a resonance experiment, a tuning fork of frequency 425 Hz is used so that the first and
second resonances occur at 20 cm and 60 c¢m respectively. The velocity of sound in air at
room temperature is

425 b, Iipue FOR HOSoER) ASOPAoD GRS Tdiugey FEaro Johom Asomed Hobuinw Dodin
esaTvEes BN 20 Be.do. S98cke 60 e.ds. i DOboTon. s 1O &G B DS & o

(1) 330 m/s (2} 335 m/s (3} 340 m/s (4} 345 m/s
330 % 335 dof» 340 2/ 345 /@

Light energy flowing from the source per unit time as perceived by human eye is called

5038 BIBIIPE> LY Tod wHEo Wod v VI Tood' wlritiudly; Fod ¥ Mokt

(1) luminous flux (2) candlepower
Ted efirine wodd Ty o

(3) luminous intensity (4) solid angle
Ted Pt $on8e

Which among the following is not a characteristic property of laser?

Bot TedEt Bub Tod v TG0

(1) Low intensity (2) Directionality
503, S SEc

{3) Monochromaticity (4) Coherence
QERGaB oG

SPACE FOR ROUGH WORK / isidd Suroosoted FoR0
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86. The relative permeability {u,) of a diamagnetic material is
GAr wchmon Savy g Sededs u,)
(1) pr>1 2} p,s1 3) u,>>1 (4) None (24 Do)

87. The force of attraction or repulsion between two magnetic poles does not depend on

0ot wdiimel e Koty estes Sor 2550y 200 B wEsEss

(1) medium in which they exist (2} pole strengths
O ES A

(3) distance of separation (4) length of the magnet
gErse wabdmolio ey

the resistance
e¥ TR0 B, Wby HOmS ROK® Gty GRHIBERY KO G s Bllowpe, w3 B8
(1) decreases both in copper and silicon

36, HOS Bodoudstun Bitso

(2} increases both in copper and silicon

538, 205 Bododdshir s

(3} increases in copper and decreases in silicon
P86 vaor, HomEES B

(4) decreases in copper and increases in silicon
58 i, BOMES B

89. The resistance of a manganin wire of 2 m length is 20 Q. Then the resistance of a wire of 5 m
length of same material and Same area of cross-section isg '
2 % dap o aremdS &x 26use 200 wond, 5 N duy A od Sengias Bl e S
P ¥OA% & 260

(1) 40 2) 50Q (3) 1000 4) 2000

90. Two resistances x and yare connected in parallel combination, If their equivalent resistance
is 0-8x, then the value of ¥ is equal to

Dot Db A'oren x BeBas y eds Sarets Somte B, T3 306 A6k 0.8 waxnd eipis Y Deoid

(1) 8x (2) g (3) x 4) 4x
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91.

92.

93.

94,

95.

SECTION—III : CHEMISTRY

The bond angle in diamond is

Sz’ wogsim

(1) 109:5° 2) 120° (3) 90° @) 104°

Alkanes generally show

&STR000 PEPOECTT erncenesrerss oo (0N

(1) addition reaction (2) condensation reaction
HoseR Woeo Do o

(3) substitution reaction {4) polymerization
PSS vogee 58560

The gas used in artificial ripening of fruits is

TOHO GHBHOT SO Boks BIENLE IC Ty

(1) methane (2) ethane
oBS BB

(3} ethylene (4) acetylene
5655 ebS

The metal used to test alcohol functional group is

e 6 sdocts 0N KoGotowts TG §irias

(1} Na 2} Mg (3) Ca (4) Cu

The functional group of aldehyde is

e3pE oo, Slaok ST

(1) —C—O0—C— (2) —CHO (3} —CO—NH, (4) —CO—C—

SPACE FOR ROUGH WORK /[ &gl Furooooeds gohwe
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96. The reaction that takes place when glucose is treated with Tollens reagent is

npSiEss GBSy omad’ 1bT et B

(1) Ag" - Ag (2) Cu?*scu 3) Ag - Ag* (4) Cut - cu?t

97. The enzyme that breaks down glucose to alcohol and CO, is
HpSERs eaw i Bobao CO, m DR 2585

(1) invertase (2} maltase
EE) sgE

{3) zymase (4) diastase
g | Boryd

98. Which one of the following is peptide bond?

dod ok :;EE wOLH

5

(1) —CO— (2) —CO—NH-— (3) —NH— (4) —CO—0—

99, Which one of the following is unsaturated fatty acid?
@00 T witotyy Sl esoin

(1) Lauric acid (2) Stearic acid
er5 esiioioo 505 wsoison

(3) Oleic acid (4) Palmitic acid
L0k eslionos PRIE et

100. Which one of the following is not an addition polymer?
&1 300 6 Boves PO T

1

(1) Polythene {2) PVC
>06S R

(3) Polyacrylonitrile {4) Phenol formaldehyde resin
FDeBEIRE voé ponbaipd oud

SPACE FOR ROUGH WORK / 8o feroaobeds penn
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101. Which one of the following is the isobar of G p

B (Bod TS 6014 Saoy, b

(1) §C" By 50 (3 N @ ,N°

102. The orbital which does not lie along the axis is
1 Bt wiure® o PO 30 egprd
(1) Px @) da_ 2 (3) dyy (4) Py

y

103. The number of electrons that can be accommodated in an orbit is given by

ey 5556‘ ehRom Yoo Doy Sopgo FRPN

(1) n? 2) 2n? @3 n 4) 2n

104. The number of unpaired electrons present in sulphur is

Henb (ﬁoqsm)é‘ fo towd Jogie Sowg

(1 1 (2 4 3 3 @ 2

105. lonic compounds are generally formed between

GOSPRY ST T wevveses o Yooook HY DEED%
(1) two metals (2) metal and non-metal
Toth e Shminay Habas edtmies
(3) two non-metals (4) noble gases
oty ebhiie 2l TRCBaNeR

SPACE FOR ROUGH WORK / 289808 Sepoooctnds o
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106. The number of o (sigma) bonds present in ethylene is
36b05&° Ko b (o) wogre Som

(1) 4 (2 5 @B 2 4 1

107. Which one of the following is not having pyramidal shape?
T (800 TS oo efyo 820

(1) NH, (2) PCe, (3) BF, (4) PH,

108. Which one of the following is not a Dobereiner triad?

300 T8 TwbhE worE a0

(1) C¢ Br, I (2) Li, Na, K (3) S, Se, Te 4) N, Na, K

109. The modern periodic table is constructed based on

S5 eHEe 53 e, B STERE OBRRO

(1) atomic radius {2) atomic weight
e ms.&g:m BERFew PES

(3) atomic number (4) atomicity
BTErER Sow el

110. Which of the following increases from left to right for a given period?

Bl 36" LOAES® Seio Mood Ho& PYVE LSS

(1) Atomic radius {(2) Oxidizing property
DiTTeL a'g%'gb.u ¥l Mol et
{3) Electropositive character (4) Reducing property
& DCSJNQS Sogioo Fonlbmno: Moy Betmisiba
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111. Atomic size in a period from left to right

L SBoHESS Sonmre ORI R0 P $0d K& PRV

{1) increases (2) decreases
TN Bl

(3) remains same {4} initially increases then decreases
o G0l Dostied DOA BEOTS B0

112. The formula of magnesite is

BIGERS
(1) MgCOs (2) CaCOj-MgCO;
(3) MgCt, -KCt- 6H 0 (4) MgS0, - THp0

113. Which of the following is covalent in nature?

dots TOE BEPENN H0 Jod

(1} CaCl, (2) BeCf, (3) NaCt {4) MgCto

114, Stream of coal gas is passed over floating Mg during electrolysis of MgCs¢, to prevent

MgCt , Do Tiipss® Doty Mg g wood 6 TPCUIYRD eresserees 50 DE'poBNEs HoRHT:
(1) oxidation of Mg (2) reduction of Mg

Mg esdstesins Mg Hokssesno
(3) vaporization {4) solidification

g Sarkgrasnmn

115. If n moles of solute are dissolved in 500 ml of a solution, what is its molarity?

500 2obbuay @worsed’ ot FHo 2 Sopy N LWt © GRS ooended

n n 2) n/2 (3) 2n 4) sn

SPACE FOR ROUGH WORK / el Terossonnds Foko
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116. The mole fraction of H,O when one mole of HC/ is dissolved in three moles of water is

3 b DE* 1 Ares HCL 30 500005 o (e Dt 2 gorsss

(1) 025 (2) 033 (3) 066 4) 075

117. Which one of the following is acidic in nature?

Bod T8’ ity Syprine ¥od

(1) SiO, (2) NH, (3) Na,0 (4) MgO

118. The colour of methyl orange in NaOH solution is

NaOH gorsod® 2536 etof dolts

(1) yellow {2) orange
PO L) Dol Sols
{3) red (4) blue
o tH) oo

119. K, of water at 25 °C in mole?/litre? is

25 °C 0g O @oy, K, Dess 3062 Bl o6t

(1) 1x1071% (2) 1x10718 (3) 1x10715 4 o

120. The pH of 0-001 N HC/ solution is
0001 NHC/ oy, pH Deww

(1) 2 (2) 001 (3) 1 4 3






